(V)] HSK-FM 714 230 7—/N

FACE MILL ARBOR

JIS B 4113RBIEE 7 71 ANV ZRA7—/\
* BELERTSESHAINL T — I IHIS,

Plenty types are available for various types of workpieces.
eEmiEY) hy RICHRE,
|deal for high feed cutter.

SN /INAHN WAMSH

o = I

JESE

L
"
n

il
il
i

i
>
0
m
=
—
[
>
by
m
O
p)

CODE FIGT 6d [ L [ D H]K]W]C ]CI G

A63-FM16 - 60 - 40 60

o040 | 1| 16 |4pp1 38| 16| 5 | 8 | - | - | HCB-M8
A63-FM22 - 60 - 50 60 | -

120 - 50 120
AG3-FM22 60 - 63 1 22 60 I 18 5 10 HCB-M10

-120 - 63 120
A63-FM27 - 60 60

50 1| 27 45517820 6 | 12| - | - |HCBMI2
A63-FM22.225 - 60 - 50 60 | -

-120 - 50 120
AE3ENEaaoE 60 aa | | | 22225 5o " 18| 4 | 8 | - | - |HCBMI0

120 - 63 120
A63-FM254 - 60 1 60 :

50 5 254 255150 | 22| 5 |95 5| 33 | MBAMI2
A63-FM31.75 - 60 60

— 1| 8175 4501 60 | 80 | 7 [127| - | 40 | MBA-M16

WS 1 XKV EEN =LK T . Special size is available upon request.

T E—=AN—ICTZERADBERERHE I Z TRV NDREVETY EMIZPT5

Special clamping bolt with coolant hole is required for coolant through type (See page 75).
Wo—Z> Mo TIEGBESNTHEYET (EER). Coolant pipe is included.



CODE FIG od L D H K W C | Ct G
A100-FM16 - 75 - 40 75
-120 - 40 | 1 16 120 38 | 16 | 5 8 - - HCB-M8
-200 - 40 200
A100-FM22 - 75 - 50 75
-120 - 50 120 a7
-200 - 50 200
-250 - 50 250
A100-FM22 -75-63 |1 22 75 18 | 5 10 - - | HCB-M10
-120 - 63 120
-200 - 63 200 | 60
-250 - 63 250
-300 - 63 300
A100-FM27 - 75 75
-120 120
200 1 27 200 73120 | 6 12 HCB-M12
-250 250
A100-FM32 - 75 75
-120 120
-200 1 32 200 85 | 22 | 7 14 - - | HCB-M16
-250 250
-300 300
A100-FM22.225 - 75 - 50 75
-120 - 50 120 | 47
-200 - 50 200
A100-FM22.225 - 75 - 63 | 1 | 22225 | 75 18 | 4 8 - - | HCB-M10
-120 - 63 120 60
-200 - 63 200
-250 - 63 250
A100-FM25.4 - 75 75
-120 120
-200 2 254 |200| 50 | 22 | 5 |95 | 70 | 33 | MBA-M12
-250 250
-300 300
A100-FM31.75 - 75 - 80 75
-120 - 80 120
200 - 80 1| 31.75 200 76 | 30 | 7 |127 HCB-M16
-250 - 80 250
A100-FM38.1 - 75 75
-120 120
200 1 38.1 200 80 | 34 | 9 |1569 50 | MBA-M20
-250 250
A100-FM40 - 75 75
-120 120
500 1 40 200 85 | 26 | 85| 16 50 | MBA-M20
-250 250

WU A AEEXICKYEENEZLET. Special size is available upon request.

I—=ZY N TEHBENTE Y ET (@EER).

Coolant pipe is included.

S—N<S/mNAH WA-MSH

T
>
9)
m
=
=
e
>
i)
W
o
by




(V)] MBA 957Kk

CLAMP BOLT FOR FACE MILL ARBOR
G G

HCB F+v7RILb

CAP BOLT FOR FACE MILL ARBOR .

o | =
L3 L3

r 1w r |12 %
L L >
7
CODE D d L L1 2 [ 13 G H S
MBA-M 8 20 | 156 | 25 | 16 9 7 [ M 8xP=125 | 6 >
M10 28 | 18 | 31 20 | 11 9 | M1OxP=15 8 A
M12 383 | 5,5 |85 [ 23 | 12 | ,, [ MI2xP=1.75 [ 10 K
M16 40 38 | 22 | 16 M16xP=2.0 14 L
M20 50 | 27 [ 50 [ 30 [ 20 [ ,, | M20xP=25 17 K

M24 65 | 37 | 58 | 34 | 24 M24xP=3.0
—_ oL o
MBA-OH &/ &2—AWV—RI77FIVb -
CODE D d di L L1 L2 [ 13 G H S
MBA-M16-OH | 40 | 23 38 | 22 | 16 | 10 [ M16xP=20 14 E
M20-OH | 50 | 27 4 50 [ 30 [ 20 | ,, [M20xP=25 17 3
M24-OH | 65 | 37 58 | 34 | 24 M24xP=3.0 &
-
o
By
r
(@}
m
2
(.
-
>
X
W
o
By

‘ L |1 H L1
HCB HCB-OH

CODE D L L1 G H

HCB-M 8x35 13 8 M 8xP=1.25 6
M10x35 16 35 10 | M10xP=15 8
M12x35 18 12| M12xP=1.75 10
M16x40 24 40 16| M16xP=2.0 14

HCB-OH 2 4—AI—A*+ Yy 7HRIV b

CODE D di L L1 G H

HCB-M 8x35-OH 13 8 M 8xP=1.25 6
M10x35-0OH 16 3 35 10 | M10xP=1.5 8
M12x35-OH 18 12 | M12xP=1.75 10
M16x40-OH | 24 4 40 16| M16xP=2.0 14




